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U, =-0.02-.01(35) - 0.015 (35) = -0.895
U= -02-.01(75)-.015(25)=-1.145

ebus e—0.895

bus = bus L pmb ™ ,—0.895 4 ,—1.145

=0.562

emb e—1.145

Prnb T bus omb  5—0.895 4 51145

=0.438

Trips (buses) = 0.562 * 3500 = 1967
Trips (mb) = 0.438 * 3500 = 1533
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Calculation of time after the 1st 25%

T=To+(v/c)*

T1 =10 + (550/400)* = 13.575
T2 = 15 + (0/500)* = 15

T3 = 10 + (275/250)* = 4.464
T4=5 + (300/350)* = 5.54

T5 = 4 + (125/300)* = 4.03
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Calculation of time after the 2" 25%

T=To+(v/c)*

T1 =10 + (800/400)*
T2 = 15 + (300/500) = 15 216
T3 =10 + (425/250)* = 11.352
T4=5 + (425/350)* = 7.174
T5 = 4 + (425/300)* = 8.028
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Calculation of time after the 3™ 25%

T=To+(v/c)*

T1 =10 + (1050/400)* = 57.48
T2 = 15 + (600/500)* = 17.034
T3 =10 + (575/250)* = 30.984
T4=5 + (550/350)* = 11.098
T5 = 4 + (725/300)* = 38.1
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